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Choose the correct answer
1--  sphygmomanometer is used for

a) measuring the heart rate

b)  measuring the blood pressure

c) measuring the respiratory rate

d) none of the above

2 – Normal heart rate in men is

a) 110 – 130 bpm

b) 70 – 90 bpm

c) 12 – 20 bpm

d)  120/80 bpm

3 – the pulse rate increases

a) at Rest

b) During sleeping

c) During exercise

d )None of the above

4- the pulse can be measured by

a) stethoscope

b)  sphygmomanometer

c) hand

d) none of the above
5 –the normal respiratory rate for an adult is

a) 80 --- 110 / min

b ) 55--- 75/ min

c)  12 – 20  / min

d) 4—7 / min

6 – an injury or an internal bleeding can result in

a) High blood pressure

b) Low blood pressure

c ) Normal blood pressure

d)  None of the above

7- supplies for wound care include

a) sterile gauze pads

b) sterile multi trauma dressing

c) sterile burn sheet

d) all the above

8- equipments for patient transfer

a) wheeled stretcher

b) ambo bag

c) oxygen cylinder

d) laryngoscope

9—the 1st AID is

a) the immediate care given to the person

b) the care of an injured person

c) is to recognize life threatening conditions

d) all the above

10 – primary emergency survey consists of

a) ABC

b) B—BB

c)  A—BB -- D

d) none of the above

11 – the airway of the victim must be

a) clear

b)clean

c) open

d) all the above

12 – you have opened the air way to

a) perform artificial ventilation

b) compress the heart

c)say hello

d)none of the above

13 – in arrested victim we check

a)Radial pulse

b) the carotid pulse

c) the blood pressure

d) the old wound in the leg

14 – you measure the temperature with

a) stethoscope

b) stretcher

c) thermometer

d) none of the above

15 – to stop an external bleeding you should

a) wash the wound

b) Use direct compression

c) Leave it alone

d)none of the above

16 -- Arrested pulse means

a) rapid pulse

b) slow pulse

c) no pulse

d)all the above

17 – if the victim is unconscious you should put the thermometer in

a) the mouth

b)the back

c) the hands

d)none of the above

18 – shock means that the patient has

a) High blood pressure

b)Low blood pressure

c)Normal blood pressure

d)None of the above

19 – the systolic blood pressure means

a) relaxation of the heart

b)contraction of the heart

c)arrest of the heart

d)all the above

20 – you said the victim is dead because

a) there is no pulse

b) there is no respiration

c) the pupil is fully dilated

d) all the above

21– the airway of the victim must be

a) clear 

b)clean

c) open

d) all the above

22--  thermometer is used for

a) measuring the heart rate

b)  measuring the blood pressure

c) measuring the respiratory rate

d) measuring the body temperature

23 – Normal blood pressure in men is

a) 160/100 mmhg

b) 70/40 mmhg

c) 12 – 20 bpm

d)  120/80 mmhg

24 – the pulse rate increases 

a) During sleeping

b) During exercise

c) at Rest 

d )None of the above

25- the pulse can be measured by

a) stretcher
b)  sphygmomanometer

c) thermometer

d) none of the above

26 –the normal respiratory rate for an adult is

a)  80 --- 110 / min

b )  55--- 75/ min

c)   12 – 20  / min

d)  4—7 / min

27 –an internal bleeding can result in

a) High blood pressure

b) Low blood pressure

c ) Normal blood pressure

d)  None of the above

28—the 1st AID is

a) the immediate care given to the person

b) the care of an injured person

c) is to recognize life threatening conditions

d) all the above

29 – in arrested victim we check

a)Radial pulse

 b) the carotid pulse

c) the blood pressure

d) the old wound in the leg

30 – to stop an external bleeding you should 

a) wash the wound

b) Use direct compression

c) Leave it alone 

d)none of the above

31 -- Arrested pulse means

a) rapid pulse

b) slow pulse

c) no pulse

 d)all the above

32 – shock means that the patient has

a) High blood pressure

b)Low blood pressure

c)Normal blood pressure

d)None of the above

33 – the diastolic blood pressure means

a) relaxation of the heart

b)contraction of the heart

c)arrest of the heart

d)all the above

34 – you said the victim is dead because

a) there is no pulse

b) there is no respiration

c) the pupil is fully dilated

d) all the above

 35—Types of soft tissue wounds 

a)   open wounds  

 b) closed wounds 

 c)  a & b 

 d) none the above 

36 – the signs & symptoms of spinal cord fracture

 a)  local pain & tenderness 

 b) swelling 

  c) none the above 

 d) all the above 

 37 -- Chocking  means 

a) something obstructing the nose 

b) something obstructing the larynx 

c) something obstructing  the stomach

d) something obstructing The ear 

	38 --Shock means 

a) good tissue perfusion 

b)  impaired tissue perfusion 

c)  None of the above 

d)  All of the above 

	39 --Cardiogenic shock is due to ;

a) heart attack 

b)  cardiac failure 

c)  Tension pneumothorax 

      d) all of the above 
40 --In hypovolaemic shock the patient is ;

a) hypotensive

b) hypertensive 

c) normotensive 

d)  none of the above




41 -- Which of the following is / are vital sign /signs 

a) the pulse 

b) the temperature  

c)  the blood pressure 

            d) All the above
42 – secondary  emergency survey consists of

a) ABC 

 b) B—BB 

 c)  A—BB -- D 

d) none of the above

43 – if the victim is unconscious you should put the thermometer in

a) the mouth

b)the back

c) the hands

d)none of the above
44 – shock means that the patient has

a) High blood pressure

b)Low blood pressure

c)Normal blood pressure

d)None of the above

45 – the systolic blood pressure means

a) relaxation of the heart

b)contraction of the heart

c)arrest of the heart

d)all the above

46 – you said the victim is dead because

a) there is no pulse

b) there is no respiration

c) the pupil is fully dilated

d) all the above

47 – shock means that the patient has

a) High blood pressure

b)Low blood pressure

c)Normal blood pressure

d)None of the above

48 – the systolic blood pressure means

a) relaxation of the heart

b)contraction of the heart

c)arrest of the heart

d)all the above

49 – you said the victim is in cardiac arrest because
a) there is no respiration 
b) there is no response
c) there is no pulse
d) all the above

50--The causes of  hypovolaemic shock are  ;

a) external bleeding

b) internal bleeding

c) burns

      d) All the above

51 --The arteries carry oxygenated blood except

a) the coronary artery

b) the carotid artery

c) The pulmonary artery

d) The radial artery
52--  The air in the atmosphere contains

a) 40% oxygen

b) 89 % oxygen

c) 1 % oxygen

d)  21% oxygen

53-- The red blood cells

a) contain hemoglobin .

b) fight infection

c) Form a blood clot .

     d)Are yellow in color
54– the airway of the victim must be

a) clear 

b)clean

c) open

d) all the above

55--  thermometer is used for

a) measuring the heart rate

b)  measuring the blood pressure

c) measuring the respiratory rate

d) measuring the body temperature
56 – Normal blood pressure in men is

a) 160/100 mmhg

b) 70/40 mmhg

c) 12 – 20 bpm

d)  120/80 mmhg

57 – the pulse rate increases 

a) During sleeping

b) During exercise

c) at Rest 

d )None of the above

58 - The pulse can be measured by

a) stethoscope

b)  Sphygmomanometer

c) Thermometer

d) None of the above

59 –the normal oral temperature is

a)  8 --- 11 / min

b )  37--- 37.2C

c)   12 – 20  C

d)  4—7 / min

60 – shock means that the patient has

a) High blood pressure

b)Low blood pressure

c)Normal blood pressure

d)None of the above

61 – the systolic blood pressure means

a) relaxation of the heart

b)contraction of the heart

c)arrest of the heart

d)all the above

62 – you said the victim is dead because

a) there is no pulse

b) there is no respiration

c) the pupil is fully dilated

d) all the above

63--The causes of  hypovolaemic shock are  ;

d) external bleeding

e) internal bleeding

f) burns

g) Vomiting & diarrhea

      e) All the above

64 --The arteries carry oxygenated blood except

d) the coronary artery

e) the carotid artery

f) The pulmonary artery

d) The radial artery
65 – Normal respiratory rate in men is

a) 160/100 mmhg

b) 70/40 mmhg

c) 12 – 20 bpm

d)  120/80 mmhg

66 – the pulse rate decreases 

a) During sleeping

b) During exercise

c) at Rest 

d )None of the above

67 - The pulse can be measured by

a) stethoscope

b)  Sphygmomanometer

c) Thermometer

d) None of the above

68 –the normal oral temperature is

a)  8 --- 11 / min

b )  37--- 37.2C

c)   12 – 20  C

d)  4—7 / min

	69
	in heart attack the duration of chest pain is 

a) 3 --- 8 minutes

b)  Less than 3 minutes 

c) Usually lasts longer than 30 minutes 

d)  More than 3 years 



	70
	In hypovolaemic shock the patient is ;

a) hypotensive
d) hypertensive 

e) normotensive 

f)  none of the above 


	71
	 Left ventricular failure 

a) the left ventricle is powerful enough 

b) the left ventricle is not  powerful enough 

c) the right ventricle is the diseased site 

d) none of the above 



	72
	Myocardial infarction is due to 

a) partial obstruction of the coronary artery .

b) complete obstruction of the coronary artery .

c) complete obstruction of the carotid artery 

d) none of the above ,.

	73
	Release of adrenaline will cause ; 

a) a rise in pulse rate 

b)  pale , clammy skin 

c)  Nausea & vomiting 

d)  Sweating 

e) All of the above 

	74
	Shock means 

e) good tissue perfusion 

f)  impaired tissue perfusion 

g)  None of the above 

h)  All of the above 

	75
	 The expired air contains 

d) 40% oxygen 

e)  16 % oxygen 

f)  1 % oxygen 

g)  21% oxygen .

	76
	 The arteries carry oxygenated blood except 

g) the coronary artery 

h)  the carotid artery 

i)  The pulmonary artery 

j)  The radial artery 


	77
	The causes of  hypovolaemic shock are  ; 

h) external bleeding

i) internal bleeding 

j)  burns
k)  All the above



	78
	The coronary artery is found in 

a) the abdomen 

b)  the heart 

c)  The stomach 

d)  The eyes



	79
	The heart is 

a) three chambered pump 

b) five chambered pump

c)  forty chambered pump

d) Four chambered pump

	80
	the lack of oxygen means 

a) hypotension 

b)  hypoxia 

c)  Hyperglycaemia

d) None of the above 

	81
	The most common type of shock is 

a) hypovolaemic shock 

b) neurogenic shock 

c)  anaphylactic shock 

d) Cardiogenic shock 

	82
	The red blood cells 

d) contain hemoglobin .

e)  fight infection 

f)  Form a blood clot .

g) Are yellow in colour .


	

	83-- The technique used to open the air way is 

a) head tilt – chin lift 

b) head lift – chin tilt

c)  head slap – chin lift 

d)  head thrust -- chin lift  

	84--Hyperventilation means 

a) slow breathing 

b) normal breathing 

c)  excessive breathing 

d) All the above 


	85--The most common cause of heat stroke is 

 a)working in cold climate 

b) working in hot condition 

 c)working in dark 

d) none of the above 

	86--Hyperglycaemia means 

a) normal blood glucoe 

b)   high blood glucose 

c)  Low blood glucose 

d)  None of the above 

	87-- in hypoglycaemia the casualty 

a) is pale ,cold ,sweaty

b) has disturbed level of consciousness

c) has shallow & rapid breathing 

d) all the above  

	88--in treatment of hypoglycaemia we give the casualty 

a) sugary drink

b) salty drink 

c) water 

d) none of the above 

	89--Poison can entere the body by 

a) ingetion 

b) inhalation 

c)  absorption 

d) Injection 

e) All the above

	90--Cardiogenic shock means ;

e)  The heart is not pumping effectively .

f) The heart is pumping effectively.

g) The heart is normal .

h)  None of the above 



	91--Angina pectoris means 

a) mid sternal chest pain 

b)  lower back pain 

c) Central abdominal pain 

     d)None of the above

	92--Types of bleeding are 

a) Arterial bleeding 

b)  Venous bleeding  

c)  Capillary bleeding  

d)  All the above 

	93--Incision or clean cut wounds are caused by 

a) blunt object

b) sharp object

c) A nail

d) d)none of the above



	94--Of types of bone fractures 

a) closed fracture 

b)  open fracture 

c)  Complicated fracture 

d)  All the above 




95-- The carotid artery is found in 

e)  The abdomen 

f)  The heart 

g)  The neck
h)  The eyes

	96--The veins carry  non oxygenated blood except 

k) the superior vena cava  

l)  the inferior vena cava 

m) The pulmonary veins 

n)  Non of the above . 

	 97--The expired air in each breath contains . 

h) 40% oxygen 

i)  16 % oxygen 

j)  1 % oxygen 

k)  21% oxygen .


98-- The following is / are considered  heat imbalance 

d) hyperthermia

e) hypothermia 

f)  a & b 

g)  None of the above 

99- Secondary drowning is caused by

a) Small amount of water

b) large amount of water 

c) Irritation of the alveoli 

d) None of the above

100-- In fracture cervical spines we must 

h) Move the neck as we want 

i) Stabilize the neck 

j)  Do no thing 

k) Remove the neck completely 
                                                                    The end

